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(a—2b-3)(a+2b+3) = ANt A2 &2 A2
@ a?24+4b%2-12b-9 @ a?—-4b%2-12b+9
® a2 -4b2+12b+9 @a2—4b2—12b—9

® a®+4b>+12b-9
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2b+ 3 =A 2} 2| gtH

(a=A)(a+A) =a? - A?
=a?-(2b+3)>
=a® - (40 +12b+9)
=a?—4b*>-12b-9
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(x+ 2y = 27)(x + 2y + 4z) — 72

@ (x+2y-52)(x+2y+3z) @ (x—2y+5z)(x—2y—3z)
@(x+2y+5z)(x+2y—3z) @ (x4 3y+5z)(x+2y-32)

® (x+22)(x—27)(x* +3)

B

x+2y=A=t5tH

(x+2y—2z)(x+ 2y +4z) - 722

= (A-22)(A + 42) - 7Z°

=A% +2Az- 1572 = (A - 3z)(A + 52)
= (x+ 2y + 52)(x + 2y - 32)
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VIS+3T VI5-2F5 E 454, 2VTH3V2-1 35 22 55 bty
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@ Vi8+3-(V15-2)= V18 +3- V15+2>0
V1843 > V15 -2
@2Vi-(3V2-1)=2V7-3V2+1= 28— VI8 +1>0
L2V7>3v2-1
na=V18+3=3V2+3,b=3V2-1
b—a=3V2-1-(3V2+3)=—40°]|t}.
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4-V3oIth. A, B, C, Dol th85h= 3h& A%t a, b, ¢ a2t T
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D V2+ V3+2, V2-V3+3
@ V24 V3+3, V24 V3+2
® V2-V3+3, V24 V3+2

@2«/5—1,6
® 6,2v2-1
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1<V2<2:B=12
0<V2-1<1:A=+2-1
a+b=(V2-1)+(V2) =2v2-1
3<V34+2<4:D=+3+2
2<4-V3<3:C=4-13
c+d=(4-V3)+(V3+2)=6




A x, yoll tste] A4t @& xoy= V3x+ V3y + V2xy 2t akAk 54
(a@2)+(2a©1) =bV3+20V2 & o, a + b ] FH-= FoHH?

O 14 @ 17 @ 21 @23 ® 25

B ~
(@a©2) + (2a01)

= V3a+2V3+2V2a+2V3a+ V3+2V2a
=(a+2+2a+1)V3+ (2a+2a)V2

= (3a+3) V3 +4aV2

b=3a+3, 4a=20°E2 a=5,b=18

L~ a+b=23
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Vi=a-249 M, Vx—4a+12- Vx+2a-3 & 7

2<a<4)
@-2a+5 @ 2a-5 ® 5
@ —2a-3 ® -2a+3
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Vi=a-2 o FHS AESH x =0’ -4a+4
Va2 —8a+ 16 — Va2 —2a+ 1

= /(@a-4)2- /(a-1)?

=la—4|-la-1|

=-a+4-a+1=-2a+5
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O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)




